CALCULUS 11 EXAM 2 A Dr. RAPALJE--SCC at HUNT CLUB

SHOW ALL WORK ON SEPARATE PAPER. Justify and circle all answers.
Where calculators are used, describe window, procedures, etc.
Gold Sheet, Supplement to Gold Sheet, Trig Sheet, Chapter 6
Fomula Sheet are allowed.

1. Give the set-up to find the
area of the region above the
X-axis, bounded by Y=X-2 and
X=Y?2 a) using vertical slices

b) using horizontal slices;
c) calculate the easiest way.

4Inx’ y=0, and x=5.

2. Find the area bounded by y=

Give exact value. Check with calculator.

3. Find the volume of the solid obtained by rotating the region
bounded by y=x3, y=0, and x=2 about the x axis. Give a set-
up for a) disk method; b) shell method; c) solve easiest
way .

4. Find the volume of the solid obtained by rotating the region
bounded by y=x3, y=0, and x=2 about the y axis. Give a set-
up for a) disk method; b) shell method; c) solve easiest
way .

5. Find the arclength of the curve y=In(x+4x*-1) from x=3 to
1

decimal value; b) Integrate to obtain exact value.

x=5, given thaty'= a) Use the calculator to find the

6. Find the surface area obtained by rotating the curve
2
x:%%-%lny from y=1 to y=2 about the x-axis.

7. Find the center of mass of the
region shown in the graph:



10.

Find the center of mass of the region: y=4-x?, y=0, x=0.
(Use calculator to evaluate the integrals.)

Use the Theorem of Pappus to find the volume of the torus
formed by rotating the circle (x - 5)? + (y - 4)? = 4

A) about the x axis; B) about the y axis.
Use the disk or shell method and the equation x?> + y2 = r?2 to
derive the formula for the volume of a sphere. Explain your

method (disk, shell, axis of rotation, etc.).
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